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� ��!� �!��������� ak ���� �9�A �

1��� �� �
��� 
� ��	
�� 
��
 
�� �� 1
������

 9�,� �
�
��
���� ���� ���	��
 �#

�



����	� �
 �
�(�	� ����(�����
� 
�
�������

������
��� �� � ./��$

x(t) =
3∑

k=−3

ak e
jk 2π t �9�,B 


� a0 = 1� a1 = a−1 = 1
4
� a2 = a−2 = 1

2
�
� a3 = a−3 = 1

3
. )��� 
����
(������
� ���� �9�,B 

�
����!
�

x(t) = 1 +
1

4
(ej2πt + e−j2πt) +

1

2
(ej4πt + e−j4πt) +

1

3
(ej6πt + e−j6πt)

= 1 +
1

2
cos 2πt+ cos 4πt+

2

3
cos 6πt. �9�,, 

)
 �"#

�
 9�-�
 %�; ���"��!� �
�
��
���� ��� !���(�����
� 
�
������ �� �#

 x(t) �����
�

�����
 ���!��������

2
 
���
��$����!
� ��� �9�A �� ��
 �!�	���� ��
���� $� 
�
�
����
�� ���� �������%

��	 �#

��� �
� �����
��! ���������! ���
�"� �������� ���! �
 �
���� �#

�


(
 
�������"�	� �� ���������
� ������ .4
$� �� �!�
��#���� ����� ���D��(���!� ��


�
�������
�� �"�� (vector space).
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�"#

 9�-3 �
 4 ��
(���� ���� x0(t) = 1. �� * ����� 
�
����# x1(t) = 1
2
cos 2πt� �� 

E���(��� ��
(���	 ���! �
� ������ 
�
����#� x0(t)+x1(t)� �� * ��	���� 
�
����# x2(t) =

cos 4πt� �� E���(��� ��
(���	 ���!� ������ �
� ��	����� 
�
����#� x0(t) + x1(t) + x2(t)�

��� * ����� 
�
����# x3(t) = 2
3
cos 6πt� �; E���(��� ��
(���	 ���! �
� �$� ����� ����$�


�
������ x0(t) + x1(t) + x2(t) + x3(t)�



@ �� ��������	�
� �
���������
����

����� �

����
�
��� ��	�


)� ��
��� ��������� ��
 �
 �����!
� ��� �����
 ��! ��
�!�

����	 "���! ���
� � ����
�� ��!

��
����! ������ (scalar field). ./�
 �
(
$�� ����� K ���
� ��
 �	���� 
��(
�� ��! ���
�

������� $� ���� ��� ����(��� �
� ��� ����
��
��
�
�� ���
�# �� �(����

 �
� �� ����
���

����$��#���� �	� ����"��$� 
�� �� K 
�#��� ������ ��� K� )��� � ����(��� ��� �
� �

����
��
��
�
�� ���
� �������� �	� ����
��$�� ./��$ x, y, z ∈ K� )��� ��
 ��� ����(���

�
� ��� ����
��
��
�
� ��"	�!� �� �&#� ���������3

• 
���
��
(����# (commutative)

x+ y = y + x x · y = y · x �9�,- 

• ������
�������# (associative)

(x+ y) + z = x+ (y + z) (x · y) · z = x · (y · z) �9�,6 

• 	�
�&� �!������! ����"���! (null element) ��! �!
����;��
� 
� 0 ∈ K ��
 ��� ����(���

�
� 1 ∈ K ��
 ��� ����
��
��
�
�

x+ 0 = x x · 1 = x. �9�,9 

• =�"	�� ������ � ���
�������# (distributive) �������
 ��! ����
��
��
�
�	 $� ���� ���

����(���

x · (y + z) = (x · y) + (x · z). �9�,< 

• /������� ��
 �
 ����"��
 ��! K ������ �
 �"�!� ��
� 
�������+� ��! 
�#��� ��� K $�

���� ��� ����(��� ���! �!�#($� 
���
����
� ����
���� �
� ��
 �
 ����"��
 ��! K
����� ��! B ������ �
 �"�!� ��
� ��������#� $� ���� ��� ����
��
��
�
��

)� �	���� �$� ��
�

����� 
��(
�� R �+���
�
��� 
� ��� ����(��� �
� ��� ����
��
��
�
�

���
� ��
 ������ .���
 ����
 ��! �
��;���
� ���� ����(��� �
� ��� ����
��
��
�
� ���
� �


�	���
 �$� 
��
����� 
��(
�� C �
� �$� ����� 
��(
�� Q� 2
 

� 
�
�"��#��!� �
 ����


R �
� C ���� 
���!�� ��
��$� �
� �!���
��$��

./�
� ��
�!�

����� "���� 
����� �
 ������� $� ���� ��
 ������ /��������
 ��
� �
���$

����
��� �"��� S ��� ����� �$� ��
�

����� 
��(
�� R # �$� 
��
����� 
��(
�� C ���
�

��
 �	���� ����"��$� �x� �y� �z ∈ S ��! ������
� ��
�	�

�
 ��
 �
 ����
 ���;���
�3



�� ��������	�
� �
���������
���� A

• � ����(��� �	� ��
�!�
��$� ��! ����� ����!�

 �
�

• � ����
��
��
�
�� ���� ��
�	�

��� ��� ��
 ��
�

���� # 
��
���� 
��(
� �& 
��������

��! ����� ����!�

�

'��
�#� �� S ���
� ������� $� ���� �� ��
�!�

���# ����(��� �
� ��� ����
��
��
�
� ����

��
�	�

��� ��� ��
 ��
�

���� # 
��
���� 
��(
� �& 
���������

* ��
�!�

���# ����(��� �
� � ����
��
��
�
�� ���� ��
�	�

��� 
� ��
� ��
�

���� #


��
���� 
��(
� �& 
�������� �"�!� ��� 
����!(�� ���������3

,� ����
��
(����#

∀�x, �y ∈ S : �x+ �y = �y + �x. �9�,C 

-� 1�����
�������#

∀�x, �y, �z ∈ S : (�x+ �y) + �z = �x+ (�y + �z). �9�,? 

6� .E�
�&� 
�������	 ��
�	�

��� �0

∀�x ∈ S : �x+�0 = �x. �9�,@ 

9� .E�
�&� 
���(���! ��
�	�

���

∀�x ∈ S ∃�y ∈ S : �x+ �y = �0. �9�,A 

<� ��
 �� �!������ ����"��� ��! �
(
$��	 ����
��
��
�
�	 1 ∈ R ��"	��

∀�x ∈ S : 1 �x = �x. �9�-B 

C� /��
��������� ���������3

∀�x ∈ S, a, b ∈ R : a (b �x) = (a b) �x �9�-, 

∀�x ∈ S, a, b ∈ R : (a+ b) �x = (a�x) + (b �x) �9�-- 

∀�x, �y ∈ S, a ∈ R : a (�x+ �y) = (a�x) + (a �y). �9�-6 

)!���� �
������

 ���� ��
�!�

����	 "���! ���
� �� �	���� Rn �$� ��
�

����� ��
�!�
�%

�$� ��#��� 
���(�!� n× 1

�x = x = (x1, x2, . . . , xn)T �9�-9 



,B �� ��������	�
� �
���������
����

���! xi ∈ R� i = 1, 2, . . . , n �
� T ���
� � ������#� 
�
����+#�� /��
� ���+
��� ��� 
�������"


���;��
� ��
� ��
�!�

����� "���� ���$ ��� ����� C�

8����� �
 ���"��� ��� �!������	� ��
�!�

����	� "���!�

• �� �!��"��� �!�
��#���� x(t) ��
 t ∈ [t1, t2]

• �� �!��"��� �!�
��#���� φ(s) ��
 s = a+ jb ∈ C� ��
� s ∈ C ⊆ C�

%
�������
��� &���"��


./�
 
� ���� �	����M⊆ S ���� ��
�!�

����	 "���! S ���
� ��
� �
�������
��� ����"$

��� �# ��
 �!���
�
 
���� !��"���� ��! S� ��� � ��������
�� �$� ���&�$� ���M� �
(����

�� �	���� M ��
�!�

���� "���� =�
�# �
� 
�
��
�
 �!�(#�� ��
 �
 ���
� �� M ⊆ S !%

��"���� ��! S ���
� �0 ∈ M� * ��
# �	� !��"��$� ���
� ������ !��"����� ��
 �
������



!��"���� ��! ���������
��! /!��������! ��
�!�

����	 "���! R3 ���
� �� �&#�3

�
. �� R3

��. ��
 ������#���� ������� ��
 ��� 
�"#� ��$� 
&��$� 0 = (0, 0, 0)T

��. 
�
 ����
�#���� �!(��
 ��
 ��� 
�"#�

��. � 
�"#�

./�
� �����
��� ���������� ��
�!�
��$� �xi ∈ S� i = 1, 2, . . . , n� ���
� ��
 ���
�!�

%

���� �(����

 ��� 
��+#�

a1�x1 + a2�x2 + . . .+ an�xn ���! a1, a2, . . . , an ∈ R� �9�-< 

)
 ��
�	�

�
 �xi ∈ S� i = 1, 2, . . . , n� ������
� �����
�"� �'�������� 
� !���"�!� a1�

a2� . . .� an ∈ R �"� ���� 
���� ������� ����

a1�x1 + a2�x2 + . . .+ an�xn = �0. �9�-C 

)
 ��
�	�

�
 �xi ∈ S� i = 1, 2, . . . , n� ������
� �����
�"� ���'������ 
� � �9�-C 
��(�	��


��� ��
� a1 = a2 = . . . = an = 0�

./��$ X = {�x1, �x2, . . . , �xn}� ������� �!���� (span) ��! X ���
� �� �	���� �$�

��


���� �!��!
�
�� 
!��� �$� ��
�!�
��$�� ���
�#

span(X ) = {�y : �y = a1�x1 + a2�x2 + . . .+ an�xn, a1, a2, . . . , an ∈ R}. �9�-? 



�� ��������	�
� �
���������
���� ,,

./�
� ��


���� �!��!
�
�� ��
�!�
��$� 
����� �
 "����
�����(�� ��
 �
 �"�

����� ��
�

��
������ ����"�� ���� �
�������
��! �"���� �����# �� span(X ) ���
� !��"���� ��!

S� ��
��$��;�!
� ��� � �9�A �� �!��!
�
� 
� �� ������� ��� �� �!��"��� ��
�

�����

�!�
��#���� x(t) ��
 t ∈ [t1, t2] �!������	� ��
 ��
�!�

���� "��� ���
 �
� �� �!��"���

���������� �!�
��#���� 
� 
�����(�	� �� ��
 ������

 
�
� �������! �
������ ��� �!;#���#



� ���� !��"��$��

(���
��� ���������
� �� �
�������
��!� �"����

./��$ S � ��
�!�

����� "���� �$� �!��"�� �!�
��#��$� 
�
� 
��&������� 
��
����#� t

����
�# ��
��$� ��
 t ∈ [t1, t2] ���$ ��� R� .4�
 �
 �#

�
 ��! (
 "����
�����(�	�

��� �!��"��
 (
 
�#��!� �� 
!�� �� ��
�!�

���� "���� 4��;�!
� ��� 
����!(�� �
(
$���

�!�
��#���� �� ��
�!�

����	� "���!�3

,� )�����
�� �
������ < x(t), y(t) >3 /��
� �!������� �	� ��
��$� x(t) �
� y(t) ��


t ∈ [t1, t2] ��! �
����� �� �
(
$�# ��
#

< x(t), y(t) >=

∫ t2

t1

x(t) y(t) dt. �9�-@ 

1������+�� ���� 
���;�!� �	� �#

�
 x(t) �
� y(t)� �
�� 
�
����
 
� ��� ������# ����

��
�	�

��� �� ��
 ���� ���� ���������
�� /!�������� "���� =�"	�!� �� 
����!(��

��������� ��! ��$������	 ����
���!3

�
F < x(t), y(t) > = < y(t), x(t) >

��F < c x(t), y(t) > = c < y(t), x(t) >� c ∈ R

��F < x(t) + y(t), z(t) > = < x(t), z(t) > + < y(t), z(t) >

��F < x(t), x(t) > ≥ 0� ���! � ������
 ��"	�� 
� x(t) = 0� ∀t ∈ [t1, t2]� )� ��$������

����
��� ���� �#

��� 
� ��� �
!�� ��! �����
� ������
� ��! �#

����

-� *������ �
�� � ����� |x(t)|3 /��
� � ����
�$���# ��;
 ��� �������
� ���� �#

���

|x(t)| =
√
< x(t), x(t) > =

√∫ t2

t1

x2(t) dt �9�-A 

��
 ��� ����
 ��"	�!� �
 �&#�

�
F |x(t)| ≥ 0� 
� ��� ������
 �
 ��"	�� ��
 x(t) �
!������� 
������� ��
 t ∈ [t1, t2]



,- �� ��������	�
� �
���������
����

��F |a x(t)| = |a| |x(t)|� ∀a ∈ R ��
��������
 

��F |x(t) + y(t)| ≤ |x(t)|+ |y(t)| �����$���# 
�������
 �

6� *������� �!� ������� d(x(t), y(t))3 /��
� �!������� �	� ��
��$� ��! �

�����

�� �
(
$�# ��
#

d(x(t), y(t)) = |x(t)− y(t)| =

√∫ t2

t1

(x(t)− y(t))2 dt. �9�6B 

1������+�� ���� ��
+���!� �	� �!�
��#����� =�"	�!� �� 
����!(�� ���������3

�
F d(x(t), y(t)) ≥ 0� ���! � ������
 ��"	�� 
� x(t) = y(t)

��F d(x(t), y(t)) = d(y(t), x(t)) �
����!

�����# 

��F d(x(t), y(t)) ≤ d(x(t), z(t)) + d(z(t), y(t)) �����$���# 
�������
 �

��� ��
�!�

���� "��� �$� 
��
����� �!�
��#��$� � ����
�� ��! ��$������	 ����
���!

�"�� $� �&#�3

< x(s), y(s) >=

∫ s2

s1

x(s) y∗(s) ds �9�6, 

���! ∗ ���
� � ������#� 
��
���#� �!;!��
��

+��� �
�������
��! �"���

.4�$� ���
� ��$���� ��
 �	���� ��


���� 
��&
��#�$� ��
�!�
��$� ��! �
����!� �� ��
�!%

�

���� "��� S ���
� ���� ��� S� '��
�#� ������#���� ����"��� ��! S 
����� �
 
�
�
�
%

��
(�� $� ��
� 
��
����� ��


���� �!��!
�
�� �$� ��
�!�
��$� ��! �!������	� �� ����

��+�&#� ��
�	�

�
 ����� � G�(� ��
�!�

����� "���� ��
(���� 
�
 ����� 
������� ��� ���
�


�
 �
� 
��
���# �� ������ 4 
��(
�� �$� ��
�!�
��$� ����� ���;�� �� �
������ (dimension)

��! ��
�!�

����	 "���!�

./"���
� ������ ��� �����
 ��! ��$������	 ����
���! ��� ��
�!�

���� "��� �$� �!��"��

��
��$� x(t) ���$ ��� R ��
 t ∈ [t1, t2] 
����	
� �
 �����!
� �� ����� �!� ������� $�

∠(x(t), y(t)) =
< x(t), y(t) >

|x(t)| |y(t)| |x(t)| �= 0, |y(t)| �= 0. �9�6- 

/��
��$� �	� �#

�
 ������
� ��
��"�
� 
�

< x(t), y(t) >= 0. �9�66 
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�%
������� ��
�	�

�
 �x1� �x2� . . .� �xn ���
� 
�� �	� ��(�����
� ���� ���
� ��


����


��&�����
� �!����� 
�
 �!����# n �!�
��#��$� ϕ1(t)� ϕ2(t)� . . .� ϕn(t)� t ∈ [t1, t2]� ��!

���
� 
�� �	� ��(������� �
� �������� �"�!� 
��
��
�� 
����� ���
�#

< ϕi(t), ϕj(t) >= δij
�
=

⎧⎨
⎩ 1 i = j

0 i �= j
�9�69 

���! δij ���
� ����
 Kronecker, �!������	� 
�
 ��
������
�� ����� * 
�
����� ��
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���� �!�������
� 
�
 ���
��$�� ��
������������ � � ����
 
����� �	���
 �
 ��
%

������(�� �������� 8����� �
 ���"(�� ������ ��� �
� � 
�
����� ��
 ��(��$������
 
����� �



�
�!�(�� 
��$ ��� ��
���
��
� Gram-Schmidt. /��
��$� � 
��� ���
�!���# �������
 ��!

������ �
 �����	� �� �!�
��#���� ����� ���
� � �����
�� ���'��������

4� �!��
����������� �!�
��#���� �� ������

 
�
� �������! 
� �
������� �
�������������

��$� (
 �&�����!
� ��� �!��"��
� �!������	� 
�
 ��(��
�����# ���� ��! 
&��������
� ����

�����
�� �� ����� Fourier. ��
 ��� �!��
����������� �!�
��#����� �(����

� ��
+����� �
� �%

����#�$�� �����	� ���� �� �!��
��������� �!�
��#����� �!�# � �������
 �$� �!��
����������

�!�
��#��$� �!����� 
� �
 �������� "
�
���������� ���� �
����	 �#

��� ��! ����
����#�
%


� �� ������	
��� ��+��
��� ���������
� �
 +
��
����� ��(����� �� ������

 
�
� �������!

�!������	� ������ 
�
 ��(��
�����# ���� 
� �
������� �
������������� /���� 
�� �� �����

Fourier ����� �����
�� ������ ���
� ��3

• ������ Legendre ��! "����
�����	� �
 ���!��!

 Legendre $� �!�
��#���� �����

• ������ Laguerre ��! "����
�����	� �
 �
��!

 ���!��!

 $� �!�
��#���� �����

• ������ Walsh ��! "����
�����	� ��� �
��!
�� �!�
��#���� $� �!�
��#���� ������

��� �!��"��
 (
 (�
������!
� 
�
 �����# (�$��
 �����
��� ���� �#

��� �� ������ ��� ����
�


����# ������$�� (
 ���
� � �����
�� �� ����� Fourier ��
 ��� �	���� �$� �!��������� ak

��� �9�A �

����� ���	��
 �����
��� �� ��
	�

./��$

x(t) =
+∞∑

n=−∞
an ϕn(t) �9�6< 



,9 �� ��������	�
� �
���������
����

��
� �� �!�
��#���� {ϕn(t)} �!������	� 
�
 ��(��
�����# ���� ��� ��
�!�

���� "��� �$�

��
��$� x(t) ��
 t ∈ [t1, t2]� 2���!
� �
 ���	
� 
�
 ���������� x̂(t) ��� x(t) "����
�������
�

�����
�
��� ��#(�� ��$� M <∞ ���� �9�6< 

x̂(t) =
M∑

n=−M

ân ϕn(t). �9�6C 

�� !����(�� ��� �� M �"�� �����"(��� 1��� ���
� � ���!���� ���������� �9�6C ��� �9�6< H

��
 �
 
�
���(�� �� �����

� ������ �
 ������� �� ��
���
� ���!����� �������
���� ./�


������ (
 
����	�� �
 #�
� � 
����
�� 
��
&	 �$� x(t) �
� x̂(t)

I = d(x(t), x̂(t)) =

√√√√∫ t2

t1

[x(t)−
M∑

n=−M

ân ϕn(t)]2 dt. �9�6? 

4���� ������ �
 ���	
� �
 ân� n = −M, . . . ,M � ���� �
 ��
"����������
� �� I� ���
�#

ân :
∂I2

∂ân

= 0 n = −M, . . . ,M. �9�6@ 

./"�!
�

I2 =

∫ t2

t1

x2(t) dt− 2
M∑

n=−M

ân

∫ t2

t1

x(t) ϕn(t) dt+
M∑

n=−M

M∑
m=−M

ânâm

∫ t2

t1

ϕn(t) ϕm(t) dt

=

∫ t2

t1

x2(t) dt− 2
M∑

n=−M

ân

∫ t2

t1

x(t)ϕn(t) dt+
M∑

n=−M

M∑
m=−M

ânâmδnm

=

∫ t2

t1

x2(t) dt− 2
M∑

n=−M

ân < x(t), ϕn(t) > +
M∑

n=−M

â2
n. �9�6A 

4����

∂I2

∂ân

∣∣∣
ân,opt

= 0⇔ −2 < x(t), ϕn(t) > +2ân,opt = 0⇔
ân,opt = < x(t), ϕn(t) > n = −M, . . . ,M. �9�9B 

)� 
�������� �+��

 ����������� ���
�

I2
min =

∫ t2

t1

x2(t) dt−
M∑

n=−M

â2
n,opt. �9�9, 

/����# �� �!�
��#���� {ϕn(t)} �!������	� 
�
 ��(��
�����# ����� �� x(t) 
����� �
 
�
�
%

�
��
(�� $� ��


���� �!��!
�
�� �$� �!�
��#��$� ������ �����

ân,opt =< x(t), ϕn(t) >=<
+∞∑

m=−∞
amϕm(t), ϕn(t) >=

+∞∑
m=−∞

am < ϕm(t), ϕn(t) >= an ∀n
�9�9- 



�� ��������	�
� �
���������
���� ,<

���! ���

� "�#�� ���
+∞∑

m=−∞
amδmn = an ∀n. �9�96 

* �9�9- ���;�� �� �����
�
��� �$� �!����������

)����# ��
�	�$�� ��! (�$�#

���3 ./��$ S � ��
�!�

����� "���� �$� ��
��$� x(t) ��


t ∈ [t1, t2] ���$ ��� ����� R �
� {ϕn(t)} 
�
 ��(��
�����# ���� ��! S� �� x(t) 
�
��	����
�

$� �&#�

x(t) =
N∑

n=−N

an ϕn(t) �9�99 

���! N �!�#($� ���
� ������� (���!
� �
 ����������!
� �� x(t) $� ��


��� �!��!
�
� 
�

�����
�
��� ��#(�� (2M+1) �!�
��#��$� ��(��
�����#� ������ ���� �� 
��� ����
�$����

�+��

 I2 �
 ���
� ���"����� )��� 
����

• �� �!��������� ��� ����������� �
 ������	�

ân = an =< x(t), ϕn(t) > n = −M, . . . ,M �9�9< 

• ����� � ���������� �����
� 
�� ���

x̂(t) =
M∑

n=−M

an ϕn(t) �9�9C 

• �
� �� 
��� ����
�$���� �+��

 ��� ����������� ���
�

I2 =

∫ t2

t1

x2(t) dt−
M∑

n=−M

a2
n. �9�9? 

4 ��	����� ���� ��� �9�9? ��
���	��
� $�∫ t2

t1

x̂2(t)dt =
M∑

n=−M

M∑
m=−M

anam

∫ t2

t1

ϕn(t)ϕm(t) dt

=
M∑

n=−M

M∑
m=−M

an am δnm =
M∑

n=−M

a2
n. �9�9@ 

1
�
���#����

,� *�
������ Bessel: /����# �� 
��� ����
�$���� �+��

 ����������� ���
� 
� 
���%

���� �"�!
�

I2 ≥ 0⇒
∫ t2

t1

x2(t)dt ≥
M∑

n=−M

a2
n. �9�9A 



,C �� ��������	�
� �
���������
����

-� ,�������� Parseval: �� M = N =∞� ���� � �������
 ��! �#

��� �����
� 
�� ���

W =

∫ t2

t1

x2(t) dt =
+∞∑

n=−∞
a2

n. �9�<B 

6� 4� �!�
��#���� ����� �
��	��
� �����
�� ��
�

lim
M→∞

ηM = lim
M→∞

(1− 1

W

M∑
n=−M

a2
n) = 0, ∀x(t). �9�<, 

�!�#($� ���� �� ������ ���
� ��#����� ����� 
!&�����
� �� M � �� ��(�� �����������

�����
� 
�����

����� ���	��
 �	��� �
��� 
	!�� (Wiener-Kolmogorov)

�� �� �!��������� ân �
(����	� ���"���� �� �+��

 �����������

I =

[∫ t2

t1

(x(t)−
M∑

n=−M

ânϕn(t))2 dt

] 1
2

�9�<- 

���
�#� 
� � 
����
�� ��! x(t) 
�� ��� ���������# ��! x̂(t) ���
� ���"����� ���� �� ����

�#�������

e(t) = x(t)−
M∑

n=−M

ânϕn(t) �9�<6 

���
� ��(������ ���� ���� ��� �!�
��#���� ϕn(t)� =�"	�� �
� �� 
�������+�3 �� �� �#



�+��

��� ���
� ��(������ ���� ���� ��� ϕn(t)� ���� � 
����
�� ��! x(t) 
�� �� x̂(t) ���
�

���"�����

������&� �!(���3

∂

∂âm

I2 = 0 ⇒ ∂

∂âm

[ ∫ t2

t1

(x(t)−
M∑

n=−M

ânϕn(t))2 dt
]

= 0

⇒
∫ t2

t1

[x(t)−
M∑

n=−M

ânϕn(t)]ϕm(t) dt = 0 m = −M, . . . ,M

⇒ < x(t)−
M∑

n=−M

ânϕn(t), ϕm(t) >= 0 m = −M, . . . ,M. �9�<9 

���� 
�����&� ��� ����� "�#�� ��� �� �!�
��#���� {ϕn(t)}Mn=−M �!������	� ��(��
�����#

����� .��
 �� (����

 ��� ��(��$���#� 
�"#� �"�� �����# ��"	�



�� ��������	�
� �
���������
���� ,?

����� "��
�� �����	���
�


./��$ � ��
�!�

����� "���� �$� ��
��$� S �
� (���!
� �
 ����!
� ��


��# �����
��

���� �#

��� x(t) ∈ S
x(t) =

M∑
n=−M

ân ϕn(t). �9�<< 

�� �� �!�
��#���� ϕn(t)

• �!������	� 
�
 ��#�� # 
�%��#�� ��(��
�����# ����� ��(� �!�������#� !������;��
�

"����
�������
� ��� �9�9< �
� � !�������
�� ���
� 
��&������� 
�� ������!� ��
 ��!�

����!� �!���������� ��� 
�

• ��� �!������	� ��(��
�����# ����� ��
 �
 ���(�	� �� �!��������� 
���� �
 ����!(��

�� �	���

 �&�����$� �9�<9 � ����� � !�������
�� �
(���� �!�������# ��� �����
�


��&�����
 
�� ��!� ����!��

��� $���� Fourier

����� #��
	����
� $���� � � ��
	�� Fourier

./��$ �� �!�
��#����

φ̂k(t) = cos kω0t, ẑk(t) = ejkω0t k = 0,±1,±2, . . . , �9�<C 

���! ω0 = 2π
T = 2πf0� /�����!
� $� ������

 [t1, t2] ��
 ��� ����
� ��! ��
�!�

����	

"���!� �� ������

 
�
� �������! T ����� 
� k �= n

< φ̂k(t), φ̂n(t) > =

∫ T/2

−T/2

cos kω0t cosnω0t dt

=
1

2

∫ T/2

T/2

{
cos
[
(k + n)ω0t

]
+ cos

[
(k − n)ω0t

]}
dt

=
1

2(k + n)ω0

sin

[
(k + n)ω0t

]∣∣∣∣T/2

−T/2

+
1

2(k − n)ω0

sin

[
(k − n)ω0t

]∣∣∣∣T/2

−T/2

= 0 �9�<? 

��� ��
 k = n

< φ̂k(t), φ̂k(t) >=

∫ T/2

−T/2

cos2(kω0t)dt =
1

2

∫ T/2

−T/2

[
1 + cos 2kω0t

]
dt =

T

2
. �9�<@ 



,@ �� ��������	�
� �
���������
����

�� ����&$ ��� �!�
��#���� ϕk(t) $�

ϕk(t) =

√
2

T
cos kω0t =

√
2

T
φ̂k(t) �9�<A 

���� �� �!�
��#���� {ϕk(t)} ���
� �!�
��#���� ��(��
�����#� ����� ��� ������

 
�
� �����%

��!� ������
 
����� �
 ���"��� ��� ���
� �!�
��#���� ��(��
�����#� ����� �
� ��

ψk(t) =

√
2

T
sin kω0t. �9�CB 

4
��$�

< ẑk(t), ẑm(t) > =

∫ T/2

−T/2

ejkω0t (ejmω0t)∗ dt =

∫ T/2

−T/2

ej(k −m)ω0t dt

=

∫ T/2

−T/2

cos[(k −m)ω0t] dt+ j

∫ T/2

−T/2

sin[(k −m)ω0t] dt

=

⎧⎨
⎩ T k = m

0 k �= m�
�9�C, 

4���� 
���� �
 ������	� �� �!�
��#����

zk(t) =
1√
T
ejkω0t �9�C- 

���� �
 �!������(�� 
�
 ��(��
�����# ���� +
��
������ ��(�������

����� %&
����
� 
��'���� �

 �(������ ��� ��
	�� Fourier

-����� ��(� �#

 x(t) 
����� �
 �����
(�� �� ����� ��� ������

 [t1, t2] 
� t2 − t1 = T

�!�
��#��� �$� �!�
��#��$� ����� �9�<A � �9�CB �
� �9�C- � �� �� �#

 x(t) ���
� ���������


� ������� T � � �����
�� ��"	�� ��
 ��(� t� * ��
�	�$�� �"���� �
�
��
��� ���� �!�(#���

Dirichlet ��! (
 �&��
���	� 
������
�

�� ��
������	��
� �� �!�(#��� Dirichlet, ��
 �#

 x(t) 
�
�	��
� �� ������ �(����



�$� �
�
���$ 
��+�� ��
 t1 ≤ t < t1 + T 3

x(t) =
a0

2
+

∞∑
n=1

(an cosnω0t+ bn sinnω0t) �����$��
�����# ����� �9�C6 

x(t) =
∞∑

n=−∞
cn e

jnω0t ���(����# ����� �9�C9 



�� ��������	�
� �
���������
���� ,A

���!

a0 =
2

T

∫ t1+T

t1

x(t) dt �9�C< 

an =
2

T

∫ t1+T

t1

x(t) cosnω0t dt, n �= 0 �9�CC 

bn =
2

T

∫ t1+T

t1

x(t) sinnω0t dt �9�C? 

cn =
1

T

∫ t1+T

t1

x(t) e−jnω0t dt. �9�C@ 

��
 ��������� �#

 x(t) 
� ������� T � �� �9�C6 �
� �9�C9 ��"	�!� ��
 ��(� t ���$ ��!

x(t+ T ) = x(t)� ∀t�
������&� ��
 ��(����# ����� Fourier

• /�������
� �� �!�
��#���� ��(��
�����#� �����

zn(t) =
1√
T
ejnω0t. �9�CA 

• 1��������� x(t)3

x̂(t) =
M∑

n=−M

ĉnzn(t) =
1√
T

M∑
n=−M

ĉn e
jnω0t. �9�?B 

• /����# �� {zn(t)} ���
� �!�
��#���� ��(��
�����#� �����

ĉn =< x(t), zn(t) >=

∫ t1+T

t1

x(t)z∗n(t) dt =
1√
T

∫ t1+T

t1

x(t) e−jnω0t dt. �9�?, 

• �����
(������
� �
 ĉn ���� x̂(t) ��! �����
� 
�� ��� �9�?B �
����!
�

x̂(t) =
M∑

n=−M

[ 1

T

∫ t1+T

t1

x(t) e−jnω0t dt︸ ︷︷ ︸
cn

]
ejnω0t �9�?- 

���! 
�
��$��;���
� �� �!��������� ��� ��(����#� ������ Fourier �9�C@ ��! �"���;�%

��
� 
� ��!� �!��������� ĉn ��! ��������� � (�$��
 ��
 ���

cn =
1√
T
ĉn ⇔ ĉn =

√
Tcn. �9�?6 

• 8��� ����
�$���� �+��

3

I2 =

∫ t1+T

t1

x2(t) dt︸ ︷︷ ︸
W

−
M∑

n=−M

|ĉn|2 = W −
M∑

n=−M

T |cn|2 = W (1− T

W

M∑
n=−M

|cn|2)︸ ︷︷ ︸
ηM

.

�9�?9 



-B �� ��������	�
� �
���������
����

• 8���� �+��

���3

ηM = 1− T

W

M∑
n=−M

|cn|2. �9�?< 

• 4� �!�
��#���� ����� �9�CA ���
� ��#����� 1���

��

�
. ./"�!
�

ηM+1 = ηM − T

W

[
|c−M−1|2 + |cM+1|2

]
. �9�?C 

��. =�"	�� ��� ηM ≤ 1� ∀M � /������(��$�� ��
 M → ∞ � �
!�����
 ��! Parseval

���������
+∞∑

n=−∞
T |cn|2︸ ︷︷ ︸
|ĉn|2

−→ W. �9�?? 

/��
��$� ηM ≥ 0� ∀M � 8. ���
 ����
 � 
����!(�
 {ηM} �!��������
� 
��

(�����	� ��
�

����	� 
��(
�	� 
��������!� ��� 
����
��

��. /����# ηM − ηM+1 ≥ 0⇔ ηM+1 ≤ ηM � � 
����!(�
 {ηM} ��� ���
� 
	&�!�
�

��. .��
 � 
����!(�
 �!������� �
� �!����� limM→∞ ηM = 0�

• ��
 ��#���� �!�
��#���� ����� ��"	�� � �
!�����
 ��! Parseval ��! 

� ��������� �


��+����!
� ��� �������
 �� ������

 
�
� �������! W �
� �� 
��� ��"	 P = W
T $�

�&#�3

W =

∫ t1+T

t1

x2(t) dt = T

+∞∑
n=−∞

|cn|2 ⇔ P =
W

T
=

+∞∑
n=−∞

|cn|2. �9�?@ 

��
 ����$��
�����# ����� Fourier � �9�?@ &
�
���+��
� ��
 ��� �������
 �� ������




�
� �������! $�

W =
Ta2

0

4
+
T

2

∞∑
n=1

(a2
n + b2n) �9�?A 

�
� ��
 �� 
��� ��"	 P $�

P =
W

T
=

1

T

∫ t1+T

t1

x2(t) dt =
a2

0

4
+

1

2

∞∑
n=1

(a2
n + b2n). �9�@B 
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�$�# �$� �9�C< �
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����� #������� Dirichlet

��� ��� 
���!�� ��! �����#(���� ����� +
���� ��� ��
 �
 �!��"# ��������� �#

�
 ��
 ����


�!������	� ��
�!�

���� "��� 
� ����&�!
� ��
 ������

 
�
� �������! � 
�
�
����
�� ��

����� Fourier �
����� ��
 
��� ����
�$���� �+��

 ��! 
�����;��
� ��
 �����
�� �����$�

��$�� ������� �������
 �	������� ��� ������ Fourier �
�
������
� �
� ��
 ����� 
�!��"#

��������� �#

�
 ��"� ��� ����
�$���# ��������# �
�
�������

./�
 ��������� �#

 x(t) ����������
� �� ����� Fourier �� ������

 
�
� �������! 
�

��"	�!� �� �!�(#��� Dirichlet 3

,� )� �#

 x(t) ���
� 
����#

��
 ����
��� �� ������

 
�
� �������! T �

-� )� �#

 x(t) �"�� �����
�
��� 
��(
� 
�!��"���� �����
�
���! 
���(�!� �� ������




�
� �������! T �

6� )� �#

 x(t) �
��!���;�� �����
�
��� 
��(
� 
������$� �� ������

 
�
� �������! T �

9� )� �#

 x(t) ���
� 
���	�$� ����������
� �� ������

 
�
� �������! T∫
T

|x(t)| dt <∞. �9�@, 

�� ��"	�!� �� �!�(#��� Dirichlet, ���� �� x(t) 
��!��
 
� ��� �����
�� �� ����� Fourier

����� 
�� 
�
��$
���� ��
�� ��! t� ���� ������ �� x(t) ���
� 
�!��"��� ���� 
�!��"����� �

����� Fourier �!������� ��� �
��(����

 �$� ���$� ��! x(t) ��
���$(�� ��� 
�!��"��
��

���
�#� 
� t0 ���
� ��
��� 
�!��"��
� � ����� Fourier �!������� ���

x(t0) =
[x(t+0 ) + x(t−0 )]

2
. �9�@- 

4� �!�(#��� Dirichlet ��
������	��
� 
�� �"���� ��
 �
 55"�#��

�� �#

�
 ��! 
�
���%

��
� ���� ���&�� )�	�� �����
� �
�
����� 
� �&�����!
� �� ����!� �#

�
 �
�
���;�!� ���

�!�(#��� Dirichlet. ./��� � �!�(#�� 9 �
�
���;��
� 
�� �� ��������� �#

 
� ������� T = 1

x(t) =
1

t
0 < t ≤ 1. �9�@6 

* �!�(#�� 6 �
�
���;��
� 
�� �� ��������� �#

 
� ������� T = 1

x(t) = sin

(
2π

t

)
0 < t ≤ 1. �9�@9 
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� �
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* �!�(#�� - �
�
���;��
� 
�� �� ��������� �#

 
� ������� T = 8

x(t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

1 0 ≤ t < 4

1
2

4 ≤ t < 6

1
4

6 ≤ t < 7

1
8

7 ≤ t < 7.5
���

�9�@< 

����� )

�*���� Gibbs

��
 
�!��"# �#

�
 ��
 ��
��
 
�!��"��
� ���
 
�� �� ;#��

 ��� �	������� �
�
������
�

�
� �� ����
��� +
���
��� Gibbs. /�� �� ���� ��! 
(����

��� ������ ��� #
��! ��! ��&��	

�
� 
�������	 ����! ��� ��
��� 
�!��"��
� $� �!�����
 �$� �!�(���� Dirichlet, �	�$ 
��

�� ��
��� 
�!��"��
� �
�
������
� 
�
 �!
��$�� 
� 
�
 
��� ��
# �
�� 9% 
��
�	���� 
��

��� ��
�

���# ��
# ��! �#

���� /������� �
�
���#(��� ���3

,� * �!
��$�� ���
� 
��&������ 
�� ��� 
��(
� �$� ��$� ��� ������ Fourier.

-� 8� ��� 
	&��� �$� ��$� ��� ������ � �!
��$�� �!����������
� ����� ���� 
�!��"��
�

)� �"#

 9�6 ���"��� �� +
���
��� Gibbs �
�
��
���� ��
 ��� ��������# ����
�$���# �
�%


�������

����� Fourier ��������#� ����
�$���#� �
�
������� �M = 1� M = 3 

t

x
(t

)�

x̂
(t

)

%- %,�< %, %B�< B B�< , ,�< -
%B�-

B

B�-

B�9

B�C

B�@

,

����� Fourier ��������#� ����
�$���#� �
�
������� �M = 7� M = 19 

t

x
(t

)�

x̂
(t

)

%- %,�< %, %B�< B B�< , ,�< -
%B�-

B

B�-

B�9

B�C

B�@

,

�
 �� 

�"#

 9�63 /����
�� �� ����� Fourier 
�
� ��������#� ����
�$���#� �
�
������� ��
� ��

��#(�� �$� ��$� ��� �����
��� ���
� �
 M = 1, 3� �� M = 7, 19�
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����+ #�
	�� Fourier ������	
��� ����� �

* ��
������!�� �$� �!

������ ���!���	��� ��!� !�������
�	�� ��
��

,� 
� x(t) ���
� ����
� �!

����
� ��
 t ∈ [−T/2, T/2]

bn = 0 ∀n �9�@C 

an =
4

T

∫ T/2

0

x(t) cosnω0t dt �9�@? 

-� ��� 
� x(t) ���
� ������#� �!

����
� ��
 t ∈ [−T/2, T/2]

an = 0 ∀n �9�@@ 

bn =
4

T

∫ T/2

0

x(t) sinnω0t dt. �9�@A 

������
��� ��.� '����
� � ���������� ����
�$����� �
�
�� 
� (�
������ ������� T0 �
�

�������
 2T1 ��! �"#

��� 9�9� 4 �
�
�� �"�� ��� �&#� 
�
�!���# ������
+#3

x(t) =

⎧⎨
⎩ 1 |t| < T1

0 T1 < |t| < T0

2
�

�9�AB 

I
 �&
"(�	� �� �!��������� ��� ����$��
������� ������ Fourier.

−T1 T1−T0

2
T0

2
−T0 T0T0−T1 T0+T1

t

x(t)

�"#

 9�93 1��������� ����
�$����� �
�
���

/!��� /����# � �
�
�� ���
� ����
� �!

����
� �� �!��������� ��� ������ �
����$� ���
�


��������� ���
�# bn = 0� ∀n� 4���� 

� ����
+���!� �� �!��������� an�

a0 =
2

T0

∫ T0
2

−T0
2

x(t) dt =
4

T0

∫ T0
2

0

x(t) dt =
4

T0

∫ T1

0

dt =
4T1

T0

�9�A, 

an =
2

T0

∫ T0
2

−T0
2

x(t) cosnω0t dt =
4

T0

∫ T1

0

cosnω0t dt =
4

T0

1

nω0

sinnω0t
∣∣∣T1

0

=
4

T0

1

nω0

sinnω0T1 =
4

n2π
sinnω0T1 = 2

sinnω0T1

nπ
, n �= 0. �9�A- 
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�� T1 = T0

4
⇔ T0 = 4T1� ����� ����	���� �!

������� ����
�$����� �
�
��� �
����!
�

an = 2
sin(nω0T0/4)

nπ
= 2

sin(nπ/2)

2nπ
2

= sinc(
nπ

2
) �9�A6 

���! � �!������� sinc(x) ���;��
� $�

sinc(x) =
sin x

x
. �9�A9 

)� �"#

 9�<
 ���"��� �
�
��
���� ��!� �!��������� ��� ����$��
�����#� ������ Fourier

��! ���������	 �!

������	 ����
�$����	 �
�
�	 ��
 n = 0, 1, . . . , 20� 1
�
����	
� ��� ��

�!��������� ����

�������	� �� �!��"# ���������!�
 ��! ���;�� � �!������� sinc(x) ��


x = nπ
2 � 
� n ∈ Z+� /���������� ��
�� �!��������� ��� ������ Fourier:

n� x

a
n

�

si
n
c(
x
π
/2

)

B - 9 C @ ,B ,- ,9 ,C ,@ -B
%B�9

%B�-

B

B�-

B�9

B�C

B�@

,

n� x

c n

�

0.
5

si
n
c(
x
π
/2

)

%-B %,< %,B %< B < ,B ,< -B
%B�-

%B�,

B

B�,

B�-

B�6

B�9

B�<

�
 �� 

�"#

 9�<3 �
 �!��������� ��� ����$��
�����#� ������ Fourier ��! ���������	 �!

����%

��	 ����
�$����	 �
�
�	� �� �!��������� ��� ��(����#� ������ Fourier ��! ���������	

�!

������	 ����
�$����	 �
�
�	�

a0 = 1 �9�A< 

a1 =
2

π
�9�AC 

a3 =
sin(3π/2)

3π/2
= − 2

3π
. �9�A? 

4� �!��������� ��� ��(����#� ������ Fourier ������
� 
�� ��� �"�����

c0 =
1

2
�9�A@ 

cn =
1

2
sinc(

nπ

2
) =

1

2
a|n|, n = ±1,±2, . . . �9�AA 

�
� �"����;���
� ��� �"#

 9�<��



�� ��������	�
� �
���������
���� -<

������
��� ��0� I
 �&
"(�	� �� �"�����3

an =
2

T

∫ t1+T

t1

x(t) cosnω0t dt

a0 =
2

T

∫ t1+T

t1

x(t) dt

��
 ��� ����$��
�����# ����� Fourier

x(t) =
a0

2
+

∞∑
n=1

(
an cosnω0t+ bn sinnω0t

)
.

* �&
�$�# �$� �!��������� bn 
+#���
� $� ������ ���� 
�
�������

������&�

�� '��&

� ��� �� �!�
��#���� ϕn(t) =
√

2
T

cosnω0t �!������	� 
�
 ��(��
�����# �����

��$� �
� �� �!�
��#���� ψn(t) =
√

2
T

sinnω0t� 1
�
����	
� ������ ��� ��
 n �= m

< ϕn(t), ψm(t) > =

∫ t1+T

t1

√
2

T
cosnω0t

√
2

T
sinmω0t dt = �9�,BB 

=
2

T

∫ t1+T

t1

cosnω0t sinmω0t dt =

=
2

T

∫ t1+T

t1

1

2

[
sin(n−m)ω0t+ sin(n+m)ω0t

]
dt =

=
1

T

{∫ T

0

sin(n−m)ω0t dt+

∫ T

0

sin(n+m)ω0t dt
}

=

=︸︷︷︸
n�=m

1

T

{[
− 1

n−m cos(n−m)ω0t
]T

0
+

+
[
− 1

n+m
cos(n+m)ω0t

]T
0

}
=

=
1

T

{
(− 1

n−m)
[
cos(n−m)

2π

T
T − 1

]
+

+(− 1

n+m
)
[
cos(n+m)

2π

T
T − 1

]
= 0. �9�,B, 

�� n = m 
�� ��� �9�,BB �
����!
�

2

T

∫ T

0

cosnω0t sinnω0t dt =
2

T

∫ T

0

1

2
sin 2nω0t dt =

=
1

T

∫ T

0

sin 2nω0t dt = − 1

2T
cos 2nω0t

∣∣∣T
0

= 0. �9�,B- 

.��


< ϕn(t), ψm(t) >= 0 ∀n,m ∈ Z+ �9�,B6 
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��� ��
 ��!� �!��������� ��� ������ �!��
����$� 
����	
�

��!� ���!� ��! 
(����

��� �����
��� ��� x(t) ��! �
�����!� �
����
�

�> * (�$��
 ��������� ���3

ân =< x(t), ϕn(t) > n ≥ 1 �9�,B9 

�
� ���

x(t) = dc ���� +
∞∑

n=1

ân ϕn(t) = dc ���� +
∞∑

n=1

ân

(√ 2

T
cosnω0t

)

= dc ���� +

√
2

T

∞∑
n=1

ân cosnω0t. �9�,B< 

E������;���
� ��� �9�,B9 �"�!
�3

ân =< x(t), ϕn(t) >=

√
2

T

∫ T

0

x(t) cosnω0t dt. �9�,BC 

�����
(������
� ���� �9�,B< 3

x(t) = dc ���� +
2

T

∞∑
n=1

[ ∫ T

0

x(t) cosnω0t dt

]
cosnω0t

= dc ���� +
∞∑

n=1

[
2

T

∫ T

0

x(t) cosnω0t dt

]
︸ ︷︷ ︸

an n≥1

cosnω0t.

E��������
� �
 ������������� � dc ����� �� (���!
� ���! n = 0 ����

ϕn(t) =

√
2

T
cosnω0t 0 ≤ t ≤ T �9�,B? 

�
����!
�

ϕ0(t) =

√
2

T
0 ≤ t ≤ T. �9�,B@ 

/�� ��"	��

< ϕ0(t), ϕn(t) >= 0 ∀n �= 0

�
�
����	
� ���

< ϕ0(t), ϕ0(t) >=

∫ T

0

2

T
dt = 2.

.��
 ������ �
 �
����������(�� � ϕ0(t) ��3

ϕ
′
0(t) =

1√
2

√
2

T
=

1√
T
, 0 ≤ t ≤ T �9�,BA 
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�����#� ����� �$� �!��
�������� �!�
��#��$�� )���

â0 =< x(t), ϕ
′
0(t) >=

1√
T

∫ T

0

x(t)dt. �9�,,B 

����� � dc ���� ���� ����$��
�����# ����� ���
�

a0

2
= â0ϕ

′
0(t) =

[
1

T

∫ T

0

x(t)dt

]
⇐⇒ a0 =

2

T

∫ T

0

x(t) dt. �9�,,, 
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� ���!���	��!� ���� �&
�$�# ��� ������ ��
 ����� �#

�
� ���� 
����!&�

(
 "����
����#��!
� �� �	
�
��

x(t)
FS←→ ak �9�,,- 

��
 �
 ������!
� ��� ��
 ��������� �#

 x(t) 
� ������� T �
� (�
������ ��!����# �!"�����


ω0 = 2πT �"�� �!��������� ��(����#� ������ Fourier ak� ���
�# ��"	�� �� ;�	��� �&�����$�


���!��� �
� �	�(����3

ak =
1

T

∫
T

x(t) e−j k ω0 t dt �9�,,6 

x(t) =
∞∑

k=−∞
ak e

j k ω0 t. �9�,,9 

/+�&#� (
 
�
+���

��� ���� ��(����# ����� Fourier. 4 1��
�
� 9�, �!��0�;�� ��� ���������

��� ������ Fourier.

��+�� "	
��
�*���


./��$ x(t) �
� y(t) �	� ��������� �#

�
 
� ������� T ��! �"�!� �!��������� ������ Fourier

ak �
� bk 
�������"$�� G�(� ��


���� �!��!
�
�� �$� x(t) �
� y(t) ���
� ������ ���������

�#

 
� ������� T �
� �!��������� ������ Fourier ��! ������
� 
�� ��

z(t) = Ax(t) +By(t)
FS←→ ck = A ak +B bk, ∀A,B ∈ C. �9�,,< 

* 
�����&� ��� �9�,,< ���
� 
��# �
� �����;��
� ���� �+
�
��# ��� �&��$��� 
���!���

�9�,,6 �
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1��
�
� 9�,3 =�������� ��� ������ Fourier �!��"�	� "����!�

=������
 1�������� �#

 �!��������� ������

Fourier

x(t)

y(t)

⎫⎬
⎭

��������� 
� ������� T

�
� (�
������ �!"�����


ω0 = 2π
T

ak

bk

��


������
 A x(t) +B y(t) A ak +B bk

������# 
��
������ x(t− t0) ak e
−j k ω0 t0

8��
������ �!"�����
� ej M ω0 t x(t) ak−M

�!;!��
 x∗(t) a∗−k

������# 
�
����+# x(−t) a−k

������# ���
��$�� x(α t)� α > 0 ����������


� ������� T
α  

ak

1�������# �!����&�
∫

T
x(τ) y(t− τ) dτ T ak bk

1���
��
��
�
�� x(t) y(t)
∑+∞

l=−∞ al bk−l

'�
+�����
dx(t)
dt

j k ω0 ak

4����#�$��
∫ t

−∞ x(t) dt ������
�
�%

��� ��
#� �
� ���������


��� 
� a0 = 0 

( 1
j k ω0

) ak

�!;!�#� �!

����
 ��


��
�

���� �#

�
 x(t) ∈ R

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

ak = a∗−k

Re{ak} = Re{a−k}
Im{ak} = −Im{a−k}
|ak| = |a−k|
∠ak = −∠a−k

1�
�

���� �#

�
 ����
�

�!

����
�

x(t) ∈ R3 x(t) = x(−t) ak ��
�

����� �
� ��%

��
� �!

����
�

1�
�

���� �#

�
 �����%

�#� �!

����
�

x(t) ∈ R3 x(t) = −x(−t) ak �
(
��� +
��
���%

��� �
� ������#� �!

�%

���
�

����	�(��� �� ����� �
�

������� 
���� ��
�

��%

��	 �#

���

⎧⎨
⎩ xe(t) = 1

2
(x(t) + x(−t))

xo(t) = 1
2
(x(t)− x(−t))

Re{ak}
j Im{ak}

)
!�����
 Parseval ��
 ��������� �#

�


1
T

∫
T
|x(t)|2 dt =

∑+∞
k=−∞ |ak|2
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���������
���� -A

��+�� �	��
�� ���
�*�
��

* "�����# 
��
������ ���� ���������	 �#

��� x(t) ��! �"�� ������� T ��� 
�������� ���

������������
 ��! �#

���� /��
��$� �� ����	���� �#

 y(t) = x(t− t0) 
����� �
 
�
�!(��

�� ����� Fourier 
� �!���������

bk =
1

T

∫
T

x(t− t0) e−j k ω0 t dt
τ=t−t0=

1

T

∫
T

x(τ) e−j k ω0 (τ+t0) dτ

= e−j k ω0 t0 ak. �9�,,C 

'��
�#

x(t− t0) FS←→ e−j k ω0 t0 ak �9�,,? 

��! !������� ��� ���� ��� ���� ������������
 ��� ����� �� ����� ��� ���������"�

��� ��
��� Fourier ��������
 �����������

��+�� �	��
�� 
�
��	�,�

* "�����# 
�
����+# ���� ���������	 �#

��� ��� 
�������� ��� ������������
 ��! �#

����

��
 �� "������� 
�
���


��� �#

 
����� �
 
�
�!(�� �� ����� Fourier 
� �!��������� 
�

��	
� bk� �� &����#��!
� 
�� �� �9�,,9 � ����
 ���
� �
!�����
 
����
(������
� ���! t ��

−t3
x(−t) =

∞∑
k=−∞

ak e
j k ω0 (−t) m=−k

=
−∞∑

m=∞
a−m ej m ω0 t �9�,,@ 


�� ��� ����
 ����	���� ���

x(−t) FS←→ bk = a−k �9�,,A 

��! !������� ��� � ����
�� �������#� ������ �� �������#� ��� ������ ��� ��
���

Fourier. �� x(t) ���
� �#

 ����
� �!

����
�� ���� 
��
��
 ����	���� ��� ak = a−k�

����� � 
����!(�
 �$� �!��������� Fourier �"�� ����
 �!

����
� ��������"$� 
� �� �#



�"�� ������# �!

����
� ���
�# x(t) = −x(t)� ���� ak = −a−k� ����� � ������# �!

����



������+��
� 
�� ��� 
����!(�
 �$� �!��������� ��� ������ Fourier.

��+�� �	��
�� �'
��� ��

* "�����# ���
��$�� ���� �#

��� x(t) ��! �"�� ������� T �
�� �
������
 α ∈ R+ ������

�� ��
 ��������� �#

 
� ������� T
α �
� (�
������ �!"�����
 αω0� �� &����#��!
� 
�� ���



6B �� ��������	�
� �
���������
����

�&��$�� �	�(���� 
����
(������
� ���! t �� α t� )���3

x(α t) =
∞∑

k=−∞
ak e

j k ω0 (α t) =
∞∑

k=−∞
ak e

j k (α ω0) t �9�,-B 

��! !������� ��� �� ����������� ��� ��
��� ���������� ����������
1 ���� ���#�$

�����
 �� �����
��� �� 
����
"�� ��������� αω0�

��+�+ -�''
�'
�

��*� ��� ����� ��� !	*���

1���
��
���;���
� �	� ��������� �#

�
 x(t) �
� y(t) ��� ���
� �������! T 
� �!���������

������ Fourier ak �
� bk 
�������"$�� ����	���� ��������� �#

 
� ��� 
!�# ������� T ��!

�����! �� �!��������� ��� ������ Fourier, 
� ��	
� ck� �&�����
� $� �&#�

x(t)y(t) =
( ∞∑

k=−∞
ak e

j k ω0 t
)( ∞∑

l=−∞
bl e

j l ω0 t
)

=
∞∑

k=−∞

∞∑
l=−∞

ak bl e
j (k+l) ω0 t

m=k+l
=

∞∑
m=−∞

( ∞∑
k=−∞

ak bm−k

)
ej m ω0 t �9�,-, 


�� ���! ����	���� ���

x(t)y(t)
FS←→ ck =

∞∑
m=−∞

am bk−m. �9�,-- 

* �9�,-- !������� ��� �� ����������� ��� ��
��� Fourier ��� �
������� �!� ���
��
$

�"� ������� ��� ����� ��� ������ ����!����� �� �����
'� ��� ������

"� ���

���������"� Fourier ��� �!� ��
������ ��������

��+�. #�/���
 �

 ��/���� ������	�


J�������
� 
�� ��� �9�,,9 �
����!
�

x∗(t) =
( ∞∑

k=−∞
ak e

j k ω0 t
)∗

=
∞∑

k=−∞
a∗k e

−j k ω0 t m=−k
=

∞∑
m=−∞

a∗−m ej m ω0 t �9�,-6 

�����

x∗(t) FS←→ a∗−k. �9�,-9 

��

������ ��������� �!

����
� ����	���!� ��
 �������
�� ���
��
�� ���� x(t)� ��
��

x(t) ��
�

���#� ��
#�⇐⇒ x(t) = x∗(t) FS←→ ak = a∗−k ⇐⇒ a∗k = a−k �9�,-< 
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����� ��
� ��� � 
����!(�
 �$� �!��������� Fourier �"�� ������ ��������� (conjugate

symmetry). )�	�� ��
����� ��

���� ���

a0 ∈ R

Re{ak} = Re{a−k}
Im{ak} = −Im{a−k} �9�,-C 

|ak| = |a−k|
∠ak = −∠a−k

���! ∠c !������� �� +��� ��! 
��
����	 
��(
�	 c ∈ C� /��
��$� �� 
����!(��� �$� ��
�%



����� 
���� �$� �!��������� ��� ��(����#� ������ Fourier, �$� �!��������� �!��
����$�

��� ����$��
�����#� ������ Fourier �
� �$� 
���$� �$� �!��������� ��� ��(����#� ������

Fourier �"�!� ����
 �!

����
� ��� �� 
����!(��� �$� +
��
������ 
���� �$� �!���������

��� ��(����#� ������ Fourier, �$� �!��������� �
����$� ��� ����$��
�����#� ������ Fourier

�
� �$� +���$� �$� �!��������� ��� ��(����#� ������ Fourier �"�!� ������# �!

����
� /��%

����� � dc ���� ��! ���
� � 
��� ��
# ��! �#

��� �� �������
 
�
� �������! ���
� ��
�

�����


��(
��� ��$� 
�

����
��

�� �� �#

 x(t) ���
� ��
�

���� �
� ����
� �!

����
�� ����

x(t) ��
�

���� ����
� �!

����
�
FS←→
⎧⎨
⎩ ak = a−k �����# x(t) = x(−t)

ak = a∗−k �����# x(t) = x∗(t)
⇐⇒ ak = a∗k.

�9�,-? 

���
��$� � 
����!(�
 �$� �!��������� ��� ������ Fourier ���
� ��
�

���# 
����!(�
 ����
�

�!

����
�� 4
��$� 
����� �
 ���"(�� ��� 
� x(t) ���
� ��
�

���� �#

 ������#� �!

����
��

���� � 
����!(�
 �$� �!��������� ��� ������ Fourier ���
� �
(
��� +
��
����# 
����!(�


������#� �!

����
�� ���� ����!�
�
 ������$�� � dc ���� ���
� 
��������� a0 = 0�

��+�0 1
��*���
 ��� Parseval

��� �� �����# (�$��
 ��� �����
��� �� ����� Fourier ����	����

1

T

∫
T

|x(t)|2 dt =
∞∑

k=−∞
|ak|2 �9�,-@ 

��! !������� ��� � 
��� ��"	� �� ������

 
�
� �������! ��! ���������	 �#

��� x(t) ���
�

��� 
� �� �(����

 �$� ����
���$� �$� 
���$� �$� �!��������� ��� ������ Fourier. )�
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������$�� ��! 
����! ��! k%���	 �!�������# ���	�
� 
� �� 
��� ��"	 ��� k%���� 
�
����#�

�!������
� ��! �#

��� x(t)� 1���

��

1

T

∫
T

|ake
j kω0 t|2 dt =

1

T

∫
T

|ak|2 dt = |ak|2. �9�,-A 

������
��� ���� 2�$�#��� �� ��������� �#

 y(t) 
� (�
������ ������� 9� ��! �����! 
�


�������� �"����;��
� ��� �"#

 9�C� I
 ������������� ��!� �!��������� ��� ������ Fourier

t

y
(t

)

%- %,�< %, %B�< B B�< , ,�< -
%,

%B�@

%B�C

%B�9

%B�-

B

B�-

B�9

B�C

B�@

,

�"#

 9�C3 8�
 �������� ��! ���������	 �#

��� y(t)�

��! �#

��� 
!��	 "����
�������
� ��� ��������� ��� ������ Fourier �
� �� ����
��� ��� ��

�!��������� ��� ������ Fourier ��! �#

��� x(t) ��! �"#

��� 9�? ���
�

ak =

⎧⎪⎨
⎪⎩

sin(kπ2 )

kπ

� k �= 0

1
2


� k = 0�
�9�,6B 

��� �� �	������ �$� �"�
��$� 9�C �
� 9�? ����	���� ���

y(t) = x(t− 2)− 1

2
. �9�,6, 

./��$ bk �� �!��������� ��� ������ Fourier ��! �#

��� x(t − 2)� ��� ��� �������
 ���

"�����#� 
��
������� �"�!
�

bk = ake
−jk ( 2π

4
) 2 = ake

−jk π = ak (−1)k. �9�,6- 

4� �!��������� ��� ������ Fourier ��! ��
(���	 �#

��� z(t) = −1
2

���
�

ck =

⎧⎨
⎩ 0 
� k �= 0

−1
2


� k = 0.
�9�,66 
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t

x
(t

)

%- %,�< %, %B�< B B�< , ,�< -

B

B�-

B�9

B�C

B�@

,

�"#

 9�?3 8�
 �������� ��! ���������	 �#

��� x(t)�

./��$ dk �� �!��������� ��� ������ Fourier ��! �#

��� y(t)� /+
�
�;���
� ��� �������


��� ��


������
� ����	���� ���

dk =

⎧⎨
⎩ ak (−1)k 
� k �= 0

a0 − 1
2 
� k = 0

=

⎧⎨
⎩ ak (−1)k 
� k �= 0

0 
� k = 0.
�9�,69 

/&���! ���!�� ���
� � �	�� ��! �����;��
� ��� �"��� y(t) = 1
2
− x(t)�

������
��� ��2� 2�$�#��� �� �#

 h(t) 
� (�
������ ������� 9 ��! �����! 
�
 ��������

�"����;��
� ��� �"#

 9�@� I
 ������������� ��!� �!��������� ��� ������ Fourier ��!

�#

��� 
!��	 "����
�������
� ��� ��������� ��� ������ Fourier.

./��$ ek �� �!��������� ��� ������ Fourier ��! �#

��� h(t)� )� �#

 y(t) ��! �"#

%

��� 9�C 
�
��$��;�!
� ��� ���
� � �
���$��� ��! �#

��� h(t) ��! �"#

��� 9�@� /��
��$�


�� �� �"����# �������
 ��� ������ Fourier �"�!
�

dk = j k
2π

4
ek. �9�,6< 

4���� ��
 k �= 0�

ek =
2 dk

j k π
= (−1)k 2 ak

j k π
= 2 (−1)k

sin(π k2 )

j (k π)2 , k �= 0 �9�,6C 

��� ��
 k = 0� � �!�������#� e0 
����� �
 ������������� ��������
� �� �
�
�� ���$ 
�� ���

�

�	�� �� 
�� ������� ��! h(t) �
� ��
�����
� 
� �� �������
 ��� �������!

e0 =
1

2
. �9�,6? 
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B�@

B�A

,

�"#

 9�@3 8�
 �������� ��! ���������	 �#

��� h(t)�

������
��� ��3� E��(���� ��� �
� �����
� � 
����!(� �����+���
 ��
 ��
 �#

 x(t)3

,� )� �#

 x(t) ���
� ��
�

�����

-� )� �#

 x(t) ���
 ��������� 
� ������� T = 6 �
� �"�� �!��������� ��(����#� ������

Fourier ak�

6� ak = 0 ��
 |k| > 1�

9� )� �#

 
� �!��������� ��(����#� ������ Fourier bk = e−
j π k

2 a−k �"�� ������# �!

�%

���
�

<� 1
6

∫
6
|x(t)|2 dt = 1

2
�

I
 ������ �� �#

 x(t)�

��� �� ����
��� 6 ����	���� ���

x(t) = a0 + a−1e
−j π t

3 + a1e
j π t

3 . �9�,6@ 

��� �� ����
��� 9 ����	���� ��� �� �#

 
� �!��������� ��(����#� ������ Fourier bk� 
�

��	
� y(t)� ���
� ��
 
��
�����
��� 
�����
+� ��! �#

��� x(−t)� �����# �� ����!�
�� �#




�
��$��;�!
� ��� �"�� �!��������� ������ Fourier a−k� * �
(!������� ���
� t0 = 3
2
� �����#

e−j k ω0 t0 = e−j k 2 π
6

3
2 = e−j π k

2 . �9�,6A 

.��
 y(t) = x(−(t− 3
2
)) = x(3

2
− t)� /����# � "�����# 
�
����+# �
� � "�����# 
��
������ ���


����	� �
 
���&�!� ��� ������������
 ��! �#

���� �� ����
��� < ��"	�� �
� ��
 �� �#
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x(3
2
− t)� 4���� �����# !���"�� 
�������"�
 ��
 ���� ��
 
��
&	 �$� �!��������� ak �
� bk�

�� 
���� 
�%
�������� �!��������� Fourier (
 ���
� �� b1 �
� b−1� G
�� �!�����
 � �
!�����


��! Parseval ���������3

|b1|2 + |b−1|2 =
1

2
. �9�,9B 

)� �#

 y(t) ���
� ������#� �!

����
�� ��
 b1 = −b−1 �
� b1 ���
� �
(
��� +
��
������


��(
��� .��


b1 = ±j
2
. �9�,9, 

4����

a1 = e−j π
2 b−1 = −jb−1 = jb1 = ∓1

2

a−1 = ej π
2 b1 = jb1 = ∓1

2
. �9�,9- 

�!����� x(t) = − cos(πt3 ) # x(t) = cos(πt3 )�

��' $���� Fourier ��� �������� ����������()��� ���

��
����

�� ������	
��� ������
 ���

� ��� � 
������� ���� ������ �!��#

��� �� �������� ��!


�
�	��
� �� ��


��� �!��!
�
� 
��
����� ��(������ 
����� 
�
 �&
�������� 
��# 
��+#�

'��
�#� 
� ��������!
� ��
 ������ �	���

 
� ������ x(t) = est� ���� � 
������� ��! ���
�

y(t) = H(s) est ���!

H(s) =

∫ +∞

−∞
h(τ) e−s τ dτ, s ∈ C �9�,96 

�
� h(t) ���
� � ���!����# 
������� ��! �!��#

���� ���� ������
 
!�# (
 

� 
�
�"��#���


�
 ���������� ������$�� ��
��$� ��
 �
 ����
 Re{s} = 0� ���
�# x(t) = ejωt� ./�
 ������

�#

 �
�������� ��
 +
��
����� ��(����� ��� �!"�����
 ω� * �
����
�� �9�,96 � ����

�&������	��
� ��

H(j ω) =

∫ +∞

−∞
h(t) e−j ω t dt �9�,99 

�
� ���
�;��
� �����
�� ���������� (frequency response).

�� !��(���!
� ��� ��
 ������ �	���

 ���������
� 
�� ��
 ��������� �#

 
� 
�
�
��%

��
�� ������ Fourier

x(t) =
+∞∑

k=−∞
ak e

j k ω0 t �9�,9< 



6C �� ��������	�
� �
���������
����

�
� ��� � ���!����# 
������� ��! ������ �!��#

��� ���
� h(t)� )��� � 
������� ��! �!��#%



��� (
 ���
�

y(t) =
+∞∑

k=−∞
ak H(j k ω0) e

j k ω0 t. �9�,9C 

�!����!
� ��� y(t) ���
� ������ ��������� �#

 
� (�
������ ������� ���
 
� ������ ��! x(t)�

4� �!��������� ��� ������ Fourier ��� 
�������� �9�,9C ���
� ak H(j k ω0)� /��
��$� ��

������ �	���

 ���+���� ����������� �
(���� �!�������# ��� ������ Fourier ��� ��������$�

&�"$����� ����
��
���;����� ��� 
� ��� ��
# ��� 
�������� �!"�����
� ��� �!������
���

�!"�����
 ����
�# 
�
����# �

���� ���
��� ������
 
�����	
� �+
�
��# ��� 
���!��� ��! �����#(��� �� �������
$

�
� #����� ��
����
�� ����������� )
 +����
 
!�� �������+���
� 
�� 
�
 ��$����(
�


��


��# ��
+����# �&��$�� 
� ��
(���	� �!��������� �
� !������	��
� ��"� 
� ��$����(
�


��������� �!���

�
 RC, ��$� �� ������;�
��� ��� �"#

 9�A�

�

Cvs(t)
ic(t)

vc(t)

R

AC

+

−

+ −

+

−

�"#

 9�A3 1�$����(
�� �	��$

 RC.

��.�� 2
� �

$
�* ,�'�	� RC

./��$ vs(t) � ���� ��� ���#� ��! ��������� �� �	��$

� �� �����&�!
� $� 
������� ��!

�!���

��� RC ��! �"#

��� 9�A ��� ���� ��
 ���
 ��! �!��$�# vc(t)� ���# �+
�
��#

��! ��
�! ������ ����$� ��! Kirchoff ������ ���� 
����!(� ��+�
��

1

C

∫ t

−∞
ic(τ) dτ +R ic(t) = vs(t) �9�,9? 

���! �� ��	

 ��! ��
����� ��� �!��$�# �"���;��
� 
� ��� ���� ��
 ���
 ��! �!��$�# ��


���

ic(t) = C
dvc(t)

dt
. �9�,9@ 

�����
(������
� ��� �9�,9@ ���� �9�,9? ����	���� � ��
+����# �&��$�� ��! �������+�� ��

�	��$

3

RC
dvc(t)

dt
+ vc(t) = vs(t). �9�,9A 



�� ��������	�
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���������
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��� �!��"��
 !��(���!
� ��� ���������
� 
�
 �
(
��� �
��������#� �������� ��� �	��$



vs(t) = ej ω t� )��� � 
������� ���
� vc(t) = H(jω)ej ω t ����� 
����
(������
� ���� �9�,9A 

����	����

RC jω H(jω) ej ω t +H(jω) ej ω t = ej ω t �9�,<B 

�
�

H(jω) =
1

1 +RC jω
=

1
j ω C

R + 1
j ω C

. �9�,<, 

* 
������� �!"�����
� ��� ���
� ������ ���� �� ���� ��� �	�(���� 
�����
��� ��! �!��$�#

���� �� �	�(��� 
�����
�� ��� �!����
�����
� ��� 
�����
��� �
� ��! �!��$�# �� ������ )�


���� ��� 
�������� �!"�����
� �
� � +��� ������
� 
�
�!���� 
�� ��� �"�����

|H(jω)| =
1√

1 + ω2 R2 C2
�9�,<- 

∠H(jω) = arctan(−ω R C) �9�,<6 

�
� �"����;���
� ��
 �"#

�
 9�,B
 �
� 9�,B� $� ���� ω ��
 RC = 1� 4 �&��
� �$� �!%

"���#�$� 
����� �
 (�$��(�� ��� �
(
���
���
� �� ω RC ���������
� 1
�
����	
� ��� ��


ωRC

|H
(j
ω
)|

B�?B?

%< %9 %6 %- %, B , - 6 9 <
B�,

B�-

B�6

B�9

B�<

B�C

B�?

B�@

B�A

,

ωRC

∠H
(j
ω
)/
π

%< %9 %6 %- %, B , - 6 9 <
%B�<

%B�9

%B�6

%B�-

%B�,

B

B�,

B�-

B�6

B�9

B�<

�
 |H(jω)| �� ∠H(jω)

�"#

 9�,B3 �������� �!"�����
� ��$����(
��! �
�$��
�
��	 +�����! RC. �
 8���� �� 

K����

ω ≈ 0 �"�!
� |H(jω)| ≈ 1� ��� ��
 
��
�	����� �!"������� �� 
���� ��� 
�������� �!"��%

���
� +(���� �
(�� |ω| 
!&����
�� .��
 �� +����� 
!�� ��������� �� �����!�� �$� "

����

�!"���#�$�� ��� �&
�(���;�� ��� !0���� �!"�������� :�
� ��� �� 
��� �	��$

 RC ���
� ��



�%��
���� �����
����� #����� (lowpass filter). ��
 �� �!"�����
 ω = 1
RC �
�
����	
�



6@ �� ��������	�
� �
���������
����

���

|H(j
1

RC
)| = 1√

2
≈ 0.707. �9�,<9 

'��
�# � 
������� �!"�����
� ��+��� ��� B�?B? ��� ��
#� ��� ��
 ω = 0� /����#−20 log10(
√

2)

= −3 �
������
� �� decibel, dB) ���
�;�!
� �� �!"�����
 ω = 1
RC ��������� ��������

0 dB (cutoff frequency). )� ������

 �!"���#�$� ω ∈ [0, 1
RC ] �
����
� �!��� �"���

(bandwidth).

1�$(	����
� ��
� ��� � ���!����# 
������� ��! �!���

��� RC ���
�

h(t) =
1

RC
e
− t
RC u(t) �9�,<< 

�
� � ��

���# 
������# ��! �����
� 
�� �� �"���

s(t) = [1− e−
t
RC ] u(t). �9�,<C 

4� �	� 
��������� �"����;���
� ��� �"#

 9�,, ��
 τ = 1� 4 �&��
� ��! "����! 
�����

�
 (�$��(�� ��� �
(
���
���
� �� t
τ

���������
� )� 
���(�� τ = RC �"�� ���
����� +!���#

t
τ

τ
h
(t

)

τ = RC

1
τ

1
τe

B B�< , ,�< - -�< 6 6�< 9 9�< <
B

B�,

B�-

B�6

B�9

B�<

B�C

B�?

B�@

B�A

,

t
τ

s(
t)

τ = RC

1− 1
e

B B�< , ,�< - -�< 6 6�< 9 9�< <
B

B�-

B�9

B�C

B�@

,

�
 h(t) �� s(t)

�"#

 9�,,3 �
 G��!����# 
������� �
� �� ��

���# 
������� ��! ��$����(
��! �
�$��
%

�
��	 +�����!�

��

��
� :����
� ���
��� ������ (time-constant). 1
�
����	
� ���

h(0) =
1

τ

h(τ) =
1

e
h(0) =

1

τ e
�9�,<? 

s(τ) = 1− 1

e
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���
�# ��
 t = τ � ���!����# 
������� +(���� ��� 1
e

= 36.78% ��� ��
#� ��� ��
 t = 0�

��� �
 �"#

�
 9�,B �
� 9�,, ����	���� �
� � �&#� ��

����# �
�
�#����� �� (���!
�

�� +����� �
 ����� 
��� ���	 
����� �!"�������� ���� � �!"�����
 
�����#� (
 ������

�
 
���	��� # ����	�


 � ��
(��� "����! �
 
!&�(��� )��� �� +����� (
 �"�� 
�
 ���	

����# 
������� �!"�����
�� 
��� � ���!����# 
������� (
 
���� �
 
���������� /��
��$�

��
��������
� 
�
 �"��� ���
����#�� ��� �������
� ��� "���� �
� ��! �	��!� ;���� ���

�!"�����
� * �"��� 
!�# (
 

� �!����	�� ������� ���� 0�+�
�# ���&���
��
 ��
��$��

��.�� 3� �

$
�* ,�'�	� RC

8�
 ��
��
����# (������ ���
� �
 (�$�#��!
� $� 
������� ��! �!���

��� RC ��� ����

��
 ���
 ��� 
�����
���� )��� �����# vr(t) = R ic(t) &
�
���+�!
� ��� �9�,9? 

1

C

∫ t

−∞

vr(t)

R
dτ + vr(t) = vs(t) �9�,<@ 

�
� �
�
�$��;���
� 

+����
 �
 
��� ��� �9�,<@ ����	���� � ��$����(
�
 ��
+����# �&��$��


� ��
(���	� �!���������3

RC
dvr(t)

dt
+ vr(t) = RC

dvs(t)

dt
. �9�,<A 

���� � 
������� �
� ���� (
 ���
� ��� 
��+#� vr(t) = G(jω)ej ω t� ����� � 
������� �!"��%

���
� ��! �!��#

��� 

� (
 ���
� ���


G(jω) =
jω RC

1 + jRC ω
. �9�,CB 

)� 
���� ��� 
�������� �!"�����
� �
� � +��� ������
� 
�
�!���� 
�� ��� �"�����

|G(jω)| =
ω RC√

1 + ω2 R2 C2
�9�,C, 

∠G(jω) = arctan(
1

ω R C
) �9�,C- 

�
� �"����;���
� ��
 �"#

�
 9�,-
 �
� 9�,-� $� ���� ωRC� 1
�
����	
� ��� ���
 ��

�	���

 �&
�(���;�� ��� "

���� �!"�������� ��� ��������� �� �����!�� �$� !0���� �!"���#%

�$� "$��� ��

����# 
�������� :�
� ��� �������
� ��
 ��
 ��$
���
�� ����
����� #�����

(highpass filter). G
� ���� ������$�� 
!�# � �!"�����
 ω = 1
RC ���
�;��
� ���������

�������� 0 dB. * ;��� �����	��$� ��! +�����! ���
� ω ∈ [ 1
RC ,∞)�



9B �� ��������	�
� �
���������
����

ωRC

|G
(j
ω
)|

1
RC

− 1
RC

%< %9 %6 %- %, B , - 6 9 <
B

B�,

B�-

B�6

B�9

B�<

B�C

B�?

B�@

B�A

,

ωRC

∠G
(j
ω
)/
π

1
RC

− 1
RC

%< %9 %6 %- %, B , - 6 9 <
%B�<

%B�9

%B�6

%B�-

%B�,

B

B�,

B�-

B�6

B�9

B�<

�
 |G(jω)| �� ∠G(jω)

�"#

 9�,-3 �������� �!"�����
� ��$����(
��! 
�$��
�
��	 +�����! RC. �
 8���� �� 

K����

* ��

���# 
������� ��! 
�$��
�
��	 +�����! ����	���� $�

sHP (t) = u(t)− s(t) = e−
t

RC u(t) �9�,C6 

���! s(t) ���
� �
� � ��

���# 
������# ��! �
�$��
�
��	 +�����! ��! �����
� 
�� ��� �9�,<C �

* ���!����# 
������� 
����� �
 ���(�� ��
+���;���
� �� ��

���# 
�������� ����� �
����!
�3

hHP (t) = δ(t)− 1

RC
e−

t
RC u(t). �9�,C9 

* ��

���# 
������� ��! 
�$��
�
��	 +�����! �"����;��
� ��� �"#

 9�,6 G
� ��
 �� 
�$%

t
τ

s(
t)

1
e

τ = RC

B B�< , ,�< - -�< 6 6�< 9 9�< <
B

B�-

B�9

B�C

B�@

,

�"#

 9�,63 >�

���# 
������� ��$����(
��! 
�$��
�
��	 +�����! RC.

��
�
�� +����� � ��
(��� "����! ���
� τ = RC�


